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The ﬁgdres in fhe margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
1. Answer as directed : | 1x8=8
() The difference between actual cost and
- standard cost-is knows as :

oS T IF TARAS. TR LS B @R/l
s '
(@) Variance
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(b) Profit
511
(c) Differential cost
ASJEICRIASIE
(d) Marginal cost
GRS
(Choose the correct answer)
(7T ©e Ro1T 1)
(@) Cost Sheet is prepared on the basis of :
Teoline D & 99 fofe tarm ¢
(a) Direct cost .
gorF A
(b) Indirect cost
AT I
(c) Both direct and indirect cost

(d)

BO6FN 0043

o5 Ol AT T

None of the ébove

89 OIS 7T

(Choose the correct answer)

(1% Ces Rotg #1)

. (1) What is normal loss of material ?

AT “&‘ﬂ\-.a_\l &6 ‘iﬁ%{ o e

(iv) A flexible budget is also known as
budget. (Fill in the blank)

T ACE5P ST IS IRt 27 |
(7] 312 259 71)

(v) Rule of thumb of current ratio is
(Fill in the blank)

SoTS SEAAe GBI BoA txm |
(Rl 912 999 )

(vi) Cost of idle time due to strike should
be treated as factory overhead.
(State True or False)

{959 TT9 (2R SRS TRE JT FIRANE

Toifes 77 fopitel <&t 21|
(3% @ 9% [730)

(vii) Overheads is the total of all
expenses. (Fill in the blank)

WA @R Tt Soie |
(AT} 312 999 79)
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'(viii) Variable cost per unit—
S (livs ARTSH I II—
(a) varies when output varies
TR TS T N
(b) ‘' remains cons_tar;t,
fRaw |
(¢ increases when output increases
Tl e 0ot =ieat & i
(d) decreases when output decreases
Bl 2 (AU Tl ST Y =W

2.. Answer the following questions : (any six)
A - 2x6=12

(i) State two advantages of cost
accounting.

Besllw 7 oI aﬁw fEr

(i) Write two differences between direct

labour and indirect labour.

| maﬁawmaﬁmw@ sfiefy
f%ﬁm
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e

- ()

(i?)

)

i)

(vii)

What is ze_ro-baseci budget ?

FPRT IS M 2

‘What does glebtors turnover signify ?

Wﬁiﬁﬁ SIS o &2

Mentlon two points of dlfference :

- between ﬁnanc1a1 accounting and cost

accounting.

ﬁﬁ?ﬂﬁ$PﬁWﬁGW$€kﬁMﬂ<FﬁﬁWW$@HSmﬁi
?jﬁ?ﬂ@ﬁm

What is the need for rharglnal costing ?
I 21321 fRprieeR erEITeTR ﬁmn

How does the break-even point help in
demsmn—maklng ?

ﬁ?@?

(viti) Mention two limitations of standard ,

costing.
TRES W‘N 7or SRRl t‘fo‘cm =
(ix) Define minimum and maximum stock
levels. |
AN TR TN B ST T BH7
- el | '
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(x) What.is a stores ledger? -

@Wﬁmaﬁ%v.

3. Answer the followmg questions : (any Sour)
© 5%4=20

wﬁmﬁawm (ﬁmmnﬁ?/)

(i) Dlstmgulsh between ‘cost reduction’
and ‘cost control’.

‘EINQM WWW’EWW%‘I%‘HI

) (i) What are the precautions which are to

be taken before the use of accournting

ratios ? .
- RIS ST R FACA 2
(i) - Mention the benefits of budgetary
.control system.

e’ g FRaprE o

(iv) Explain the concept of ABC analysis
' as a technique of inventory control.

TGO #i) AREe wmfe ol ABC Reswd
sImiey Rac a1 .

BOG6FN 0043 - 6

(v) Distinguish between fixed budget and
flexible budget.
- A.%WWWWWWWI
. (v) What is variance ‘analys1s ? From the
" details given below, calc‘:ulate——
: 2+3 ) ‘
SR ﬁzwi zﬁm R e o U
2190, AT FU— ' o
© Material cost Variénce
. FTEIN J¥ OO -
" Material pfiCe variance -
AU T OO
‘Material usage variance
APEIT IR ORS
~ “Standard Actual
() ()
- Quantity (kg) - 50 56
AR (kg)
~ Rate per kg 7 12
w4 (df$ kg)
BOGEN 0043 T | Contd.



(vii) Suggest few measures for 1mprovmg

labour productivity.

'meqmwﬁwmﬁm
feran

(vuz) Mention two solvency ratios. Calculate

 Debtors turnover ratio and average
collection penod from the followmg
2+3=5

[ Wwﬁmﬂmml WEW Sl
Wﬁ@%ww@wmw&m@m

: T
(a) - Credit sales 6,06,000
" (b) Opening debtors - 45,000
S o | |
(c) Opening bills receivable 10,000 \
WIS dea Rer
" (d) Closing debtors 53,000
AR TR

e} Closing bills receivable 12,000
Al oheat [ ‘

BO6FN 0043 8

4.

Answer the following questions : {any two)
: 10x2=20

(i)- What is meant by over and under
absorption of overheads ? How does it

arlse? How is it treated in Cost

: Accounts? . 4+3+3=10

wﬁwmwﬁwqawmw%w
o wof AR BT T T2 e
7 Rl 2T (FEME FReE I 22

(i) Explain the meaning of labour turnover.
What are the impacts of labour
turnover ? How can we reduce the

impact of labour turnover ?
‘ 2+4+4=10

i e o B | i iR e
foral | % deRITR 1 R [ [ Tty weme

(iii) Discuss the advantages of Management
Accounting. How does Management
Accounting differ from Financial

Accounting ? 5+5=10.
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i Re Roleer 1 R 452

] Explain the: difference 'bqltween

forecasting’ and ‘budgeting’. Mention

* the requisites for a successful control
_systern 7 S 3+47=10

WWW ST 2 ~H1eE R |

PG | : o ,
What is the purposé of preparing a Cost
Sheet ? From the following details,

prepare a Cost Sheet : 3+7=10
Bl T oS TR el e wers f
SUFTR 7 Q9 e D oGS T 8

(R S T
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K

Material purchased | 2,50,000
9| T |

_ Wages paid 2,00,000
TR e

" Carriage inward 2,000
sedl AR |
Depreciation of plant and machinery 10,000

‘ f,—.n»ﬂ-""/,

Repairs

- Office ma'na'_ger’s' salary

Printing and stationary .

- Power

Electricity -

e

Carriage .outwa'rd_

"WWW

Warehouse charges

- AP

' BO6FN 0043 . 11

5,010

10,000 -
10,000

10,500

2,000

. 3,000

1,500

8000 .



